Economics 12PRIVATE 



Quiz A
Spring 2013
Please answer all three questions.  To receive full credit, you must show any work you did to arrive at your answers.  Good Luck!!

1.
Use the information below to find national income, net domestic product and gross 

domestic product:
Net Exports = 

$   -80


Corporate Profits =        
$240 

Consumption = 
$1100


Investment Spending = 
$350

Wages & Salaries =  
$1400


Proprietor's Income = 
 
$  90

Interest Income =   
$  255


Depreciation =        
 
$140

Rental Income =     
$  125


Indirect Business Taxes =  
$165

Savings = 
          
$  190


Transfer Payments = 
 
$340

Personal Taxes =    
$  120

National Income

Net Domestic Product

GDP

Part b - What is the figure for government spending?
Part II – Answer both parts

IIa.
Identify the type of unemployment (frictional, structural or cyclical) implied by each of the    following:  

Joe’s unemployment as he seeks to change from a retail job to one in banking _____________

Jane’s layoff due to the long-term decline in the air travel industry _______________________

Unemployment arising from the switch from standard phones to cell phones _______________

Job losses in the banking sector due to declining demand in 2008 ______________________________
College students seeking work after graduation _____________________________________

Layoffs at Ford due to poor sales in 1982 ________________________________________________
IIb.
Prices-
Find the values of Real GDP implied by the numbers below:




Nominal GDP

Price Index

Real GDP




10,200 Billion

    100.0%



10,450 Billion

    112.0%



10,640 Billion

    126.0%
IIc. Find the cost of the following market basket in years 1 and 2 and the implied inflation rate:


Item

Quantity 
Price (Year 1)


Price (year 2)


Hamburger
    3 lbs.
      $6.00

   
    $7.00



Cheese

    3 lbs.
      $4.00


    $3.00


Apples

    2 lbs.
      $1.50


    $2.50

